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1- Sketch the graph of a funct:on f that satzsf/es all of the fo//owmg conditions:

hmx«» 5= f(x) = —o 'mxa 5+ f(X) =
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2-let f(X)=96 ifx=1.
a* ifx<1
Find the value(s) of a so that f(x) has a jump discontinuity.
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3- Use the Intermediate Value Theorem to show that the equation cos x =+/x has at least

one real root in the interval [Og]
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1- Evaluate the limit if it exists

lim (
x-+1

-

-]x-1l—-1)

|x — 1

2- Sketch the graph of a funct:on f that sat/sffes all of the fol/owmg cond/t/ons
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2L ifx>1
x+1

3-Llet f() =91 ifx=1-
a* ifx<1
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4- Use the Intermediate Value Theorem to show that the equation cos x =+/x has at least

2}

one real root in the interval
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